" ’ Power needs control

SOLID GSX Enclosure system

cover for KVL 2
(ostony do KVL 2)

CP X-3 K2

Mounting instructions

@& (€

CP 1.4-3K2 001339600 CP22-3K2 001339602

= LT = L |
(OB Montage anleitung
(SD Navodilo za montazo B # B ®
Instrukcje montazu e = B =
Upute za montazu
. , = 350 mm = 550 mm
(€2 Montazni navod
SR Navod na montaz CP23K2 001339601 CP3-3K2 001339603
(HU) Szerelesi utmutato
(™ Montavimo instrukcija F = P =
b =] ke =l
WHCTPYKUMS 3@ MOHTaX
@) Montazas instrukcija
. . 500 mm 5| 750 mm
EsD Paigaldusjuhend
90 mm
Option A1 A - - A
18 oo o1 =—|[- & B o]—= 180 0o 18
cut out / remove A, B, C oo 2 2 o
(wycigé / usunaé A, B, C) 17 ° CD) 17 17 ? ° 17
16 - o0 ol1e 16/0 oo 16
R O bl o o ° o | O
15 = oo ol1s G 15/0 oo 15
14 ol14 7 14/0 14
13 ol13 E 13/0 13
2 oz =78 % Sl 120 12
11 11 11 oo 11
. : g ferPue g :
0 _ 9 oo ol1o 10/0 oo 10
9 = oo ol 9 9|0 oo 9
8 @0 0 ——|0| 8 N A 8 |O]—= © 0@ 8
= 00 0 ° 90° ° 0 0000 =
7 @e o —~—|0| 7 = 7 |O]—— o o@ 7
5 e Al Closed| . 90 610 oo 6
5 Q oo ols Open 5[0 oo 5
4 ol 4 4|0 4
5 y
3 ol 3 B 3|0 3
2 Sl2 Open C 215 2
R ° - n N - °
1 )1 ~—[g %0 D Eel— 110 1
Hole-position marker
. right-top
Screwdriver flat-blade (Otwér-znacznik pozycii
(Wkretak ptaski) prawy gorny rog)
Hole-position marker
left-down
(Otwér-znacznik pozycji
lewy dolny rog)
oo Ohg =——[c & (o] oo
Option A2 - o o - D o o
K© oo ol17 = o oo
cut out / remove A, E, F on s - o
(wyciaé / usunaé A, E, F) 1 3000 (o) 16 B ? ooozo o 16
15 @o o —~— 0|15 O|—= o o@ 15
14 0o |14 @) oo 14
13 N oo of13 o} oo 13
12 o|12 - & ° o0 12
11 ol A @) —»E[E 1"
o o 0 0000
10 aj1o Of—= o o@ 10
9 = ol 9 o} oo 9
8 a o8 o} oo 8
7 o7 -] & o 7
6 ol 6 E ¢} [
5 o|s y e} 5
5 o
4 ola “—a o 4
3 & oo 0|3 O oo 3
[e] ° ° ° ° le)
2 o || oo 0|2 @) 0o 2
o o - - o o
1 L~1_© o1 =—[- & Eol— 10 O ll~d 1

A18.11 1981029409

ETI Elektroelement d.o.o.

Obrezija 5, 1411 Izlake, Slovenia

Phone: +386(0)3 56 57 570

Fax: +386(0)3 56 74 077

e-mail: eti@eti.si_ www.etigroup.eu

112



‘T’ P SOLID GSX Enclosure system
ower needs control

90 mm

Option A1 Option A2

= &zl = =l
@
F=| &l = Il

LG-V6-B SET
No. Type ETI Name Pcs.
LG-V6-B SET X3 1 |LG-V6-B-C Support 2
001341151 2 |AST 4.8x9.5 Tapping screw 6
3 |AW-RE 6 Washer M6 DIN9021 Zn 2
4 |AS-SH 6x10 Screw M6x10 DIN912 2

|

<] 0?
N 0
Q 0?
NE: 12
‘\
N 0
Q 0
N 0
Q 0 PM ... ELS46 K123
o 0
Q| |7 ¢
N 0
Q 0?
N 0
0
N
o
O il <2
Q )
Q 0?
N 0
Q 0?
N 0
Q [l 22
N 0
0l | [«
Q 0
o
Ol [+
NI
Q o
Q 0?
Q o
Q )

N

:

A18.11 981029409 ETI Elektroel it d.0.0.  Obrezija 5, 1411 Izlake, Slovenia _ Phone: +386(0)3 56 57 570  Fax: +386(0)3 56 74 077 __e-mail: eti@eti.si __www.etigroup.eu 212




‘T’ P SOLID GSX Enclosure system
ower needs control

70 mm
Option B1 A = 7
18 oo o Er o]—= 180 oo 18
cut out / remove A, B, C,D, E e ° s e
(wyciaé / usunac A, B, C, D, E) 17 ° o 170 . 17
16 o oo o|16 16(0 oo 16
Q O P o a o o q O
1 °2 o G 1510 o 15
14 oo O[14 E 14/0 oo 14
13 @B@\@bk © E 13(0 Aq@’oo 13
©0 o o _ o © 000
12 leeo@ 1~ =—|0 _— Bof— 1201 @ | 12
1 oo o 11j0 oo 11
o o o °
0 g oo ol10 10/0 oo 10
9 X oo ol 9 90 oo 9
8 [coo®@-—=—1|0| 8 . A 8 |0|———L@oo)| 8
8 oo @]] 5 90 _ S q@ Boool| 8
A looo® T=—|0| 7 =— E o= 7|0—=1 @00 | 7
T e ° 1 0 s Paat
6 oo O 6 Closed 90 6 O . 6
5 & 0o ol 5 5|0 0o 5
4 Ol 4 4|0 4
3 Ol 3 B 3|0 3
2 _ o2 Open C 218 2
1 o é 1 =—o»F0 90° —D Eo]— 1 é 4
Closed \
Screwdriver flat-blade
(Wkretak ptaski)
Hole-position marker
/ right-top
Ot " .
Hole-position marker :) raw‘;,rgzgf:;':_'é gp)ozyc“
left-down
(Otwor-znacznik pozycji
lewy dolny rog)
oo 0|18 =—/[ & o Be]—=18/0 oo 18
Option B2 ° o = LD 90 5 .
N oo on7 c OV 17|10 oo 17
o o en o o
cut (_)ut /remove A,B,E, F, G 16 @5@\ olie B p! 160 gess 16
(wycigé / usunaé A, B, E, F, G) - ©0 0 @]] o ° q@ 0 0000 -
15 @B ~— 0|15 15|0|—= 1 @ocoo| | 15
14 °e o4 o oo 14
1 Q oo ) 0o 1
3 N ° o 90° Q o | 8
12 °° ° o oo 12
ol < |8 o Closed | ° o Ll
1 0@~ 5 A 900 1 jllesd gl o Lgoes | 11
10 leco@ —=—|ol10 10[0|—=1"_@coo) | 10
9 = oo ol o 9l %, 9
8 d °° O|8 8|0 oo 8
7 oo o|7 Eo}— 70 oo 7
[ @B@bk ol 6 E 6O 4@500 6
00 O Q o 0 0000
5 looo@ =—|0| 5 F 5 |0——T@cod) | 5
4 oo 0| 4 -G 4|0 oo 4
3 g oo o3 3o oo 3
0] o o o o O
2 o || oo ol 2 2|0 oo 2
o) o .- 5 o
1 L1l o o)1 Eo]— 110 lo [LA] 1

A18.11 981029409 ETI Elektroelement d.o.0.  Obrezija 5, 1411 Izlake, Slovenia  Phone: +386(0)3 56 57 570 _ Fax: +386(0)3 56 74 077 __e-mail: eti@eti.si _ www.etigroup.eu 312




‘T’ P SOLID GSX Enclosure system
ower needs control

70 mm

Option B1 Option B2

LG-V6-B SET
No. Type ETI Name Pcs.
LG-V6-BSET x3 1 |LG-V6-B-C Support 2
001341151 2 |AST 4.8x9.5 Tapping screw 6
3 |AW-RE 6 Washer M6 DIN9021 Zn 2
4 |AS-SH 6x10 Screw M6x10 DIN912 2
I
J] 0?
Q 2
\N 0?
Q 1 2
Q| [+
NERine
Q |||«
Q o
0
% 2, .. ELS46 K123
Q| | 02
9 o
Q 0?
N o
0| |||«
N 0
Qp [ a2
N o1
Q 0?
Q o
Q 0?
9 o
Q| | 02
9 o
NN
9 4
Q) ||| 22
3 o
Ql |9 ¢
Q 0
Q 0?
] o
© o

)

A

A18.11 981029409 ETI Elektroel it d.0.0.  Obrezija 5, 1411 Izlake, Slovenia _ Phone: +386(0)3 56 57 570  Fax: +386(0)3 56 74 077 __e-mail: eti@eti.si __www.etigroup.eu 4/12




" ’ Power needs control

No. Type ETI Name Pcs.
1 |AS-H 10x40 Screw M10x40 DIN933 Zn 4
2 |AW-R10 Washer M10 DIN126 Zn 8
3 |AW-S 10 Washer spring M10 DIN127 Zn| 4
4 |AN-H 10 Nut M10 DIN934 Zn 4

SOLID GSX Enclosure system

PM ... ELS46 K123

/

Hole-position marker
left-down
(Otwér-znacznik pozycji
lewy dolny rdg)

A18.11 1981029409

00O

ETI Elektroelement d.o.o.

Obrezija 5, 1411 Izlake, Slovenia

PM 1.4 ELS46 K123

T —1
§o ‘o oooo © ‘Oé
o | o | %
‘ KVL-2 ‘
o o
80 ‘OQ [©) (@] .O‘ og
be po og 8
ce O O @0
o ‘ ¢} ‘Oo
80 ‘oooo ‘o(o)
S
I — ____ __ PM2ELSsKIZ
T T T T
§‘° o o0 o o © ‘ Ooooo O‘%
Q‘ c OO o OO‘DQ OO © ‘Q
‘ KVL-2 ‘ KVL-2 ‘
§‘°. o O O.‘.O o O Qo‘é
%°o o o o o 0°9
‘. O @) O.‘.O @) O .‘
o‘ o o oo‘oo o ‘o
(e} O (e} O
§‘o o o o o 5 ‘ Ooooo O‘é
° ) ‘
A 77777 S —
PM 2.2 ELS46 K123
——————— S — —+
%o ‘oooo © ‘ Ooooo ‘Oé
O % 7
‘ KVL-2 ‘ KVL-2 ‘
%O‘. O ] O.‘.O O @] .‘Oé
©° 0 0 o' o0 o o °9°
‘. @) O O.‘.O O O .‘
@ 5 oO oo o‘ Oo . o‘ )
80 ‘oooo 5 ‘ Ooooo ‘O(g
Q i Il in
A e e —
—— D T777PI\II73EI_8746I%“123
§°‘oooo © ‘O o o o o O‘ Ooooo ‘o((:i)
o ‘ ioo$o O$OOO ‘ °
‘ KVL-2 ‘ KVL-2 ‘ KVL-2 ‘
o (s}
9° @ 0O eq @ O o) .P. 0O e |°9
§D‘O O OqO (@) o O (e} (e} O‘Oé
‘. (0]e] .d. (€] O .b. (e]6] .‘
oO ‘ goO:Fo o?ooo ‘ Oo
@ o o o o 5 ‘o o o o o o‘ Ooooo ‘08
e m I I il
— - __—_— I — |/ —— — -  ——— ——— — — —— T

Phone: +386(0)3 56 57 570

Fax: +386(0)3 56 74 077 __e-mail: eti@eti.si

5/12

www.etigroup.eu




E' ’ Power needs control

SOLID GSX Enclosure system

90 mm
Option C1
cut out/ remove A, B, C, D, E
(wyciaé / usunaé A, B, C, D, E)
18 oo 6 8 00 18
17 0o o) o 0o 17
16 oo ol16 16|0 0o 16
Ol o a o o | O
1 S ‘e 9 1’ G 15 (03 o0 15
14 N oo o4 5 14/0 oo 14
13 oo O E 13|0 oo 13
12 o) S o]— 120 12
1 o 110 1
10 Oo[10 10/0 10
g bl o a -
9 = oZ 9 9 Open 9 9 ° 9
oo - A o
8 . Poge 90° S . 8
7 o oo O| 7 —~=—{ e} oo 7
o [ ) o I (] ) ) o
6 I e s Closed - 90 o oo 6
5 0o B |os Open ol 00 5
4 ol 4 e} 4
3 0|3 €] 3
2 0| 2 o 2
R a = °
1 1O 1 —~— Eo]— 110 1
Closed
91
Screwdriver flat-blade
(Wkretak ptaski)
Hole-position marker
/ right-top
- (Otwér-znacznik pozycji
Hole-position marl prawy gomy rog)
i left-down
Option C2 (Otwor-znacznik pozycji
lewy dolny rég)
cut out/remove A, B,E,F,G
(wyciaé / usunaé A, B, E, F, G)
(<] =
19 : e =[5 Lo 18
17 e: 9 17 ¢ 17
16 N 0o ol16 B 16
Qpl o o
15 O|15 15
14 ol14 14
13 o 13
s
12 oo €] 12
11 oo [ O A 11
o ooe |l 0 10
9 H 0o 0 9
8 0o I} fe) 8
7 O 7
6 e] E [}
o
5 o 3 5
4 o —G 4
3 & oo @) 3
O o o
2 o || oo le) 2
o s
1 L~ o o) 1
A18.11 981029409 ETI Elektroel it d.0.0.  Obrezija 5, 1411 Izlake, Slovenia _ Phone: +386(0)3 56 57 570  Fax: +386(0)3 56 74 077 __e-mail: eti@eti.si __www.etigroup.eu 6/12




LG-B60-H P3
001341651

/QOOQOQOOQQ

YRR

A18.11 (981029409 | ETI Elektroelement d.o.o.

" ’ Power needs control

x2

90 mm

Option C1

E
E

Vi

SOLID GSX Enclosure system

Option C2

~
g
\\(/
LG-B60-H P3
No. Type ETI Name Pcs.
1 |LG-B60-H P3-C Support 1
2 |AST 4.8x9.5 Tapping screw 6
3 |BBS-60/3 Busbar support 1
4 |AS-SH 6x20 Screw M6x20 DIN912 2
_—WP-A

Obrezija 5, 1411 Izlake, Slovenia  Phone: +386(0)3 56 57 570

Fax: +386(0)3 56 74 077

AN

/@@O@@@O@@Q

e-mail: eti@eti.si

F@ @e@@@@@9\@@@@@9@@@9@@@@@0\

R

Ny S N
S%%\QQQQ

S

S &8

www.etigroup.eu 712




E' ’ Power needs control

SOLID GSX Enclosure system

70 mm
Option D1 1 = = e
18 oo ofs =——|[- & Eo|—180 oo 18
cut out / remove A, B, C, D, E o ° s o
(wycigé / usunaé A, B, C, D, E) 17 ° CO) 7 17 9 ° 17
16 oo Ol16 16/0 oo 16
O |l o o o o o O
15 =) OZ 9 15 —G 15 9 Zo 15
14 N oo o4 3 14/0 oo 14
13 oo @] E O oo 13
12 O O 12
1" @) ©) 1
10 Ol10 10/0 10
2 : °
9 - o Co) 9 Open 9 9 ° 9
8 o b [O|8 1 oo A 80| 4 o 8
7 S ° 0|7 =—[: 8 Eol— 70 o 7
°|  Closed ° °
6 ~ o 0| 6 e L1 90 6|0 o 6
5 . b |o|s Open 50| . 5
4 ° ol 4 410 ° 4
3 Ol 3 B 3|0 3
2 ol 2 210 2
g o ~ . o
1 o) 1 D Eol—= 110 1
Cl
Screwdriver flat-blade
(Wkretak ptaski)
Hole-position marker
/ right-top
- Otwor-znacznik pozycji
Hole-position marker { orny ré
left-down prawy gomy rog)
(Otwér-znacznik pozycji
lewy dolny rog)
18 o0 o] o] oo 18
Option D2 ° ° D o °
17 oo o C o) oo 17
cut out/remove A, B,E, F, G ] : . 5 .
(wyciaé / usunaé A, B, E, F, G) 16 & 9 16 B 9 16
15 Ol|15 O 15
3 s
14 f o4 O —»[ 14
13 |13 O |—= 13
12 o oj12 =—(-&J o) o 12
11 ° b O|11 A O {] ° 11
10 = = | ° Co) 10 ? ° l 10
9 = ° ol 9 o] ° 9
8 ° b e} O {] ° 8
5 s
7 ° (@] (0] ° 7
6 (ol —-—|O E [o) J@ oo 6
oo @0 o o i @ 000
5 loo @e o F Of— o@oo) | 5
4 oo ) G o oS 4
3 & 00 e} o 0o 3
o o o o o le)
2 o || oo e} O oo 2
o ° - o o
1 L~ o (o) & | (®] o ll~] 1
A18.11 981029409 ETI Elektroel it d.o.0. Obrezija 5, 1411 Izlake, Slovenia _ Phone: +386(0)3 56 57 570 Fax: +386(0)3 56 74 077 __e-mail: eti@eti.si 812




‘T’ P SOLID GSX Enclosure system
ower needs control

70 mm

Option D1 Option D2

[ | =] =
= = = ==

LG-B60-H P3
No. Type ETI Name Pcs.
1 |LG-B60-H P3-C Support 1
LG-B60-HP3  x2 2 |AST 4.8x9.5 Tapping screw 6
001341651 3 |BBS-60/3 Busbar support 1
4 |AS-SH 6x20 Screw M6x20 DIN912 2

_—WP-A
sT T oL
SHIES NE
\ ;\\\ ? © N 0”/
% '\0\ @@ ‘\(0 S 0
Q) ] 02| |02 N Rl
o 0 29 . © 0
MR | %
9» mz P % iggf
f 0? - @ 4/0@
3 2 : .
Y e 5 <[
<> , 0?0 % Q 2°
N ¢ M@) NP
V) Q & N Q % 02
Q [ N R
\J 1 I M@ o] [ o0
« o | ¢ L[] |: lal | o] [L#s
Q YT g MQ g e
V) Q ”Z V) 00 >0
Q o Q 0?
Q) ]
U
M QL @f/

A18.11 981029409 ETI Elektroelement d.o.0.  Obrezija 5, 1411 Izlake, Slovenia  Phone: +386(0)3 56 57 570 _ Fax: +386(0)3 56 74 077 __e-mail: eti@eti.si _ www.etigroup.eu 912




SOLID GSX Enclosure system

E' ’ Power needs control

BBS+Cu 1.4 KVL2

-
KVL-2

@ s 0@ © 80 © 9]

© s 0@ ® @0 @ @]

BBS+Cu 2 KVL2

KVL-2

KVL-2

e
e
I
le)

=]

BBS+Cu 2.2 KVL2

e

KVL-2

KVL-2

B
|
|
|
|
|

— 1+
|
|
|
|
|

_

@ s 00 ®@ @0 s @

(@ o 0® @ @0 s @

BBS+Cu 3 KVL2

KVL-2

KVL-2

KVL-2

@ 5 00 ® ©0 &

[© s 0@ @ @0 @

1012

e-mail: eti@eti.si__ www.etigroup.eu

Fax: +386(0)3 56 74 077

Phone: +386(0)3 56 57 570

Obrezija 5, 1411 Izlake, Slovenia

ETI Elektroel it d.o.o.

A18.11 981029409




11/12

W@@@@@/@@

QD

S D o

SOLID GSX Enclosure system

e DeDeDeDeDeDoDDeoDe e

L-BBS-60/3
001696006

70 mm
L-WP-B60/3
001342181

001342181

\ L-WP-B60/3

Obrezija 5, 1411 Izlake, Slovenia  Phone: +386(0)3 56 57 570  Fax: +386(0)3 56 74 077 __e-mail: eti@eti.si www.etigroup.eu

L-BBS-60/3
001696006

" ’ Power needs control

ETI Elektroelement d.o.o.

A18.11 1981029409



£T’ P SOLID GSX Enclosure system
ower needs control

A18.11 981029409 ETI Elektroel it d.o.0.  Obrezija 5, 1411 Izlake, Slovenia _ Phone: +386(0)3 56 57 570 Fax: +386(0)3 56 74 077 __e-mail: eti@eti.si _www.etigroup.eu




